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C

B

Discrete data is counted ­ distance, 
mass and rainfall are all measured.

Continuous data is measured ­ 
numbers of customers, hamburgers, 
and defective watches are all counted.

= (24.2 + 28.1 + 21.6 + 22.0 + 31.2) / 5

= 127.1 / 5

= 25.42

C
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B
Note: we are told the average 
speeds of 5 of the contestants. 
This is likely not all of the 
contestants in the race, so use 
the sample formula.

= 4.13

C

Frequency = n(Probability)

    = 120(0.117)

    = 14.04
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B
A ­ The curve is not skewed 
either way.

C ­ 95% of the data lies within 2 
standard deviations, not 1.

D ­ The mean of a sample can be 
more (or less) than the mean of 
the underlying normal 
distribution.

Probability is equal to the AREA of the rectangle that gives lengths of 
greater than 203 mm.

P(203 < x < 205)  = 0.1(205 ­ 203)

= 0.1(2)

= 0.2

Probability that a flip­flop 
will have a length of 
greater than 203 mm is 0.2
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a) Frequency = n(Probability)

   = 50(0.2)

   = 10

10 students lasted between 45 and 50 minutes.

b) Total the probabilities for less than an hour

= 0.04 + 0.04 + 0.10 + 0.20 + 0.24 + 0.16

= 0.78

Frequency = n(Probability)

    = 50(0.78)

    = 39
39 students lasted less than an hour.

Find the z­score for 14 mL and use the 
table to find the probability.

x = 14,     = 15,  s = 0.75

z = (14 ­ 15) / 0.75

z = ­1.3333.... 

P(x < 14) = 0.0918

The probability that a 
hamburger will receive 
less than 14 mL of 

ketchup in one complete 
pass is 9.18%
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Working in reverse this time. Use the table 
to find the z­score for a probability of 0.002. 
Then use the z­score formula to find x.

z = ­2.88,   = 550, s = 20

­2.88 = (x ­ 550) / 20

­2.88(20) = x ­ 550

­57.6 = x ­ 550

492.4 = x

The blade should be replaced after 
492.4 hours to keep the probability 

of failure below 0.002.

a) To model this distribution with a normal distribution both these 
conditions need to be met: np > 5 and nq > 5.

np = 1000 x 0.75 nq = 1000 x 0.25

np = 750 nq = 250

Both are greater than 5, so it is reasonable to use a normal distribution.

b)

= 1000(0.75) = √1000(0.75)(0.25)

= 750 = 13.693...

The mean is 750 and the standard deviation is approximately 13.693
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c) The data does appear to follow a normal distribution. The central 
bar is the tallest and the bars drop in height, somewhat symmetrically, 
to the left and right of the central bar forming a bell­like shape.

a) Find the z­score for 120dB and then use the table to find the probability.

x = 120, = 108, s = 6.7

z = (120 ­ 108) / 6.7

z = 1.791... P(x < 120) = 0.9633

However, we want P(x > 120)

= 1 ­ 0.9633

= 0.0367
The percentage of airliners 
that will be billed a nuisance 

fee is 3.67%
b) 4 out of 1000 is 0.4%. Working backwards we need to find the z­score 
for 0.996 (1 ­ 0.004). Using the table gives a z­score of 2.65. Use the z­
score formula to solve for the mean. 

z = 2.65, x = 120, s = 6.7

2.65 = (120 ­    ) / 6.7

2.65(6.7) = 120 ­ 

= 120 ­ 2.65(6.7)

= 102.245 dB

The new mean noise level is 
about 102 dB.
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A confidence level of 99% has a z­score of 
2.576. Use the margin of error formula to 
find the margin of error. Confidence interval 
is percentage delivered ± margin of error.

Percentage delivered within 30 minutes 

= (420 / 500) x 100%

= 84%

where z = 2.576, p = 0.84, n = 500

E = 2.576
0.84(1 ­ 0.84)

500√
E = 0.0422...

The margin of error at a confidence 
level of 99% is about 4.2%

Therefore the confidence 
interval has:
Lower limit = 84 ­ 4.2

= 79.8%

Upper limit = 84 + 4.2

= 88.2%
The 99% confidence interval for the portion of parcels 

delivered within 30 minutes is 79.8% to 88.2%

a) This is a hypergeometric distribution because there are two 
outcomes and the outcomes are dependent.

b) Since the number of trials (30) is less than 10% of the population 
(450) it is reasonable to use a normal distribution to model this scenario.

c)
= 30(0.967)

= 29.01

where p = 435 / 450

 p = 0.96666...

=       30(0.967)(0.033)
450 ­ 30
450 ­ 1√

= 0.9463...
The mean is 29.01 and the standard deviation is about 0.9463 
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d) For 27 or more successes from 30 computers in the lab, we need to 
calculate P(26.5 < x < 30.5).

x = 26.5,    = 29.01, s = 0.9463

z = (26.5 ­ 29.01) / 0.9463

z = ­2.65... P(x < 26.5) = 0.004

x = 30.5,    = 29.01, s = 0.9463

z = (30.5 ­ 29.01) / 0.9463

z = 1.57... P(x < 30.5) = 0.9418

Therefore P(26.5 < x < 30.5) 

= 0.9418 ­ 0.004

= 0.9378
The probability that 27 or more computers will 

be working in the lab is 0.9378
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